
 

 

 

 

 

 

 

 

 

  

La
 s

om
m

e 
 

d
e 

m
es

 c
h
if
fr

es
  

es
t 

u
n
 m

u
lt
ip

le
 d

e 
3
. 

 
E
xe

m
p
le

 :
 

9
+

8
+

4
=

2
1

 
d
on

c 
9
8
4
 e

st
 u

n
 

m
u
lt
ip

le
 d

e 
3
. 

Il suffit de regarder 
mes deux derniers 

chiffres. 
 

Exemple : 16 est 
dans la table de 4, 
donc 1016 aussi. 

 

Je me termine  
par 0 ou 5. 

 
Exemples :  

165 
7020 

 

La
 som

m
e  

d
e m

es ch
iffres  

est u
n
 m

u
ltip

le d
e 9

. 
 

E
xem

p
le :  

2
+

7
+

9
=

1
8

 
D

on
c 2

7
9
 est u

n
  

m
u
ltip

le d
e 9

. 

78 est un multiple de 3. 

3 est un diviseur de 78. 

Je m
e te

rm
in

e 
p
ar 0

,2
,4

,6
 ou

 8
. 

 
E
xem

p
les :  

5
8
2

 
2
1
5
1
8
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